H & 0l & AHS B Ml A

20248 =0ila eI S

SMT CANE D
HE: #Y2 AU (TAINL D)

SoT oo

|.

S2lr J12ZHI(S A Z D) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SADRE B 2,062,165 3,767,588 1,715,423
Al 773,007
- 1,279,158
HH2LZHI(ZAIDHL D) 16,677 99,319 NB2,642
[2ZHI(SAIDHE D) 16,677 27,320 10,643
JI2ZHI(SADRZ D 16,677 27,320 /10,643
201 =3 10,857 14,540 A3,683
01 At22t2l] 10,857 14,540 23,683
ORA2gdit=ZH| 5,130,000 *90% 4,617
OJ|2gF+dS20HA]
8,000&x 13 +53|x 123 6,240
202 0o4dl 3,120 9,360 26,240
NENEE 3,120 9,360 6,240
OJl=Y R4 BSFO0IH|
20,0002« 13« 122 3,120
203 =] 2,700 3,420 AT20
M FA2HLRFAI 2,700 3,420 AT20
ORNSgE =]
250,0003 x 122 «90% 2,700
ENPE 309,200 0 309,200
Al 7,000
- 302,200
SADRE 309,200 0 309,200
Al 7,000
- 302,200
SADHEAY 29 2,200 0 2,200
201 er23| 500 0 500
01 AlR2telHl 500 0 500
OZADNEAIY 2 23 8 S
500,000 500
203 HR=4AH] 1,700 0 1,700
03 A= PR FA| 1,700 0 1,700
OZADHZAIY Al &2 =&
2,000,000 85% 1,700
ER 2255 L TAZA 300,000 0 300,000
403 TR M SAH=01H 300,000 0 300,000
02 SIS0t =S A A 300,000 0 300,000
OZAEHES 300,000,000 300,000
TEHCIAMY 0/2ER X 7,000 0 7,000
Al 7,000
201 2= 7,000 0 7,000
Al 7,000
01 AtR2t2|HI 7,000 0 7,000




A SADHED
B CANY
Sl SADHY (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEX 28 42 ¥ 2 25 79 =
7,000,000& 7,000
Al 7,000
SAIFEH 2l 1,726,288 3,659,769 1,933,481
Al 766,007
- 960,281
FHEEMNH 1,726,288 3,659,769 1,933,481
Al 766,007
- 960,281
FERTHONEY & THA = Al =29 863 7,733 6,870
201 =3 863 7,733 26,870
03 A2 I 863 1,233 A370
OZHIAIY 2l FRIEHE| JHF 863
~FoIHYE E22 M% 2 22 7Y
863,000 863
729 JIZ2AHE =8 EY 940,000 0 940,000
Al 470,000
- 470,000
401 AIEHIZ SR THYI 940,000 0 940,000
Al 470,000
- 470,000
01 Al&H| 940,000 0 940,000
OFHIAIY =S 22 29
940,000,000 *10H 2~ 940,000
Al 470,000
- 470,000
MESKHYRE CAITHMESSIALY (XHAI) 103,163 59,709 43,454
101 @12A4H| 59,849 0 59,849
04 JIZtN2 2N SE+ 59,849 0 59,849
OSZ0talH RXl2elefY 59,849
—JlZ2s 1,941,080 x2E+11& 42,704
— ¢ x==g 79,6502 x2& x10& 1,593
—=4| 140,000 =2+ 112 3,080
—SEFOHI 1,164,6402 x2E 22| 4,659
—ItEsE 80,000 2&* 112 1,760
—2ZES 53,796,000 *4% 2,182
—=8le= 53,796,000& *4. 5% 2,421
—1EEE 53,796,000& *1.75% A2
—&HEE 53,796,000 1% 538
201 et 3| 34,314 34,709 A395
01 At22t2l] 15,144 8,172 6,972
OF2USSO0ISAIE Lit+=ZH| 8,172
—d=J| Sx= 63,0002~ 12 756

_2_




A SADHED
NS TR R
Rl FHEENe (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—LESF Zx= 143,000« 12& 1,716
—=8J| Sx=z 333,300 * 122 4,000
—FOIZS0ISAIL BAFHIESTY
1,200,000& 1,200
—SAj M2 ~ZH| 500,000 500
OFUSS0IEAIE A&EHIF Al 6,972
—&)| HEEH 7
121,000& x 122 1,452
-5 RAESF & =8
195,000« 12& 2,340
—agordae] 88 =58
165,000« 12& 1,980
—FOBHIAIAE S
100,000& * 122 1,200
02 s3=gHl 19,170 26,537 NT,367
OFUES0ISAE S52= & HA 19,170
—&JIe= 1,400,000& «12& 16,800
—tAR=E 7,500 12 0
== 50,0002 122 600
-SSR 140,000 ~ 128 1,680
401 AIEHIZ SR 0HYI 9,000 25,000 16,000
01 Al&HI 9,000 25,000 A16,000
OZ3Z0HaE AIEs Xl 9,000,000& 9,000
T DAY A 22 9,850 21,750 A11,900
203 HR=H| 850 950 2100
03 A=A PR 850 950 A100
OHATAMLAIZ A 22 =7
1,000, 0002 *85% 850
401 Al HIZ S OHbI 9,000 20,000 211,000
01 AlZ2H| 9,000 20,000 211,000
ONSFAHXN2ACIANG 24Xl =A2
9,000,000& 9,000
FHE MO =01 0= 50,000 1,740,000 A1,690,000
405 AHaHE S 50,000 0 50,000
01 AL =S F = 50,000 0 50,000
OF0ES0IZAIE KtetH =4|
50,000,000& 50,000
CATHEAIS Atz 2t 60,000 60,000
201 er2 3| 18,000 18,000
01 AtR2t2|HI 2,640 2,640
20| Xtz 1,440
-8 SRz 35,000 =20 =122 840
—S8J| Sx= 50,000& * 122 600
O=gtl=E 7Y 100,000 122 1,200

_3_




A SADHED
NS TR R
Rl FHEENe (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2 222 16,360 0 16,360
OZ0IBS0IBAE 22| 15,360
~®J1e3 800,000 122 9,600
—FIIEE 247
121,000~ 128 1,452
—=E2= 49,0003 * 122 583
-5 RAES 180,000& « 12 2,160
—Se1AHl AlAE 110,000& * 122 1,320
—2gAE 83E 2
240,000+ 1 240
301 2PEN= 12,000 12,000
14 JIEt2 8= 12,000 12,000
OFYUBS0IBAIL ARBZR £
500,000& «2H*12& 12,000
401 AIEHIX SO 30,000 30,000
01 AlZH| 30,000 30,000
FEURE JIgAIESA
30,000,000 *14! 30,000
DiEF=8a2eld 29 562,412 500,577 61,835
Al 296,007
- 266,405
101 @124H| 69,067 79,077 10,010
M ORIMZZ2NSE S 69,067 79,077 10,010
Otts=82cad 50 69,067
—Jlzs 1,448,840 «3&+ 112 47,812
—E = 59,7602 x3& x 102 1,793
—dAZAHI 140,000& x32+11& 4,620
—ItE=g 80,000 x3&*11E 2,640
—SEFOHI 869,300 x32H +23] 5,216
—=glo= 62,081,0002 *4. 5% 2,794
—JdL2E= 62,081,000 *4% 2,484
—1IE2E= 62,081,0002 *1.75% 1,087
—&HEEE 62,081,000 * 1% 621
201 Ler23 | 157,145 162,500 Ab,355
Al 94,287
- 62,858
01 AtR2t2lHI 57,585 10,000 47,585
OltsF==ac|d 23 16,005
—AIREE 7Y 2,000,000& 2,000
Al 1,200
- 800
—E2= M 3,000,000& 3,000
Al 1,800




A SADHED
NS TR R
el FAHEZENA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 1,200
-7 S 4,000,000 4,000
Al 2,400
- 1,600
—dx= 7,005,000 7,005
Al 4,203
- 2,802
ORoIEe RA2cIES
385,000 xQJH -+ 123 41,580
Al 24,948
- 16,632
02 S5=24g4l 4,560 2,536 2,024
onlgFeRels 22 4,560
—Stes 60,0002 *3CH* 12 2,160
Al 1,296
- 864
—&JIe3 70,0003 * 122 840
Al 504
- 336
—ZAIIARS 100,000& ~12& 1,200
Al 720
- 480
—aot=Rs 30,0003 x 122 360
Al 216
- 144
03 A2 I 95,000 149,964 AB4,964
O&=cl us 24 95,000
—&=cl BT SS9 90,000,000 90,000
Al 54,000
= 36,000
—ASel DS B A
5,000,000 5,000
Al 3,000
- 2,000
206 M=Hl 35,000 40,000 25,000
Al 21,000
= 14,000
IEET 35,000 40,000 A5,000
O™l MHAZA HEH]
700,000 *500H 2~ 35,000
Al 21,000
- 14,000
301 Eet2 NS 1,200 4,000 2,800
Al 720




A SADHED
M CAFEHBABL
chel: ZEXE2ONM (19 @)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
- 480
11 EAAHIXIRES 1,200 4,000 22,800
OF%2 ZAK S|
8,000 *10& x152 1,200
Al 720
- 480
401 Al HIZL 201 300,000 215,000 85,000
Al 180,000
- 120,000
01 A=l 300,000 215,000 85,000
O&==cl SAttl 3,000, 0002 *1009H £ 300,000
Al 180,000
- 120,000




